Service Provider: Askea Community Childcare Centre

Programme Year: 2025/2026

Status: Active

Fee Options

Fee Type Name	ELC/SAC	Age Range	ECCE Available?	Session Start Time	Session Finish Time	Second Session Start Time	Second Session Finish Time	Incorporated Services?	Choose Incorporated Services	Additional Information	Hrs:Mins per Day	Days per Week	Hrs:Mins per Week	Weeks per Year	Full Fee	Fee (with ECCE deduction for 3 free hours)	Effective From	Effective To
Part Time Day Care AM	ELC/SAC	1y - 12y	Yes	08:00	13:00			Yes	Meal	Part time day care AM with meals, for 50 weeks of the year.	5.00	5	25.00	50	90	25.5	18/08/2 025	23/08/2 026
Part Time Day Care Pm	ELC/SAC	1y - 12y	Yes	13:00	18:00			Yes	Meal	Part time Pm day care with meals, for 50 weeks of the year. Friday 5pm finish.	5.00	5	25.00	50	90	25.5	18/08/2 025	23/08/2 026

Session al	ELC	2y 8m - 6y	Yes	09:30	12:30			Yes	Meal	ecce sessio ns 38 weeks . snack includ	3.00	5	15.00	38	64.5	0	25/08/2 025	28/06/2 026
School Age Term Time 5 + hours	SAC	4y - 12y	No	07:30	09:10	13:45	18:00	Yes	Meal, Transport	ed. School age Term time breakf ast club & school drop off 9.10a m, pick up 13:45 pm to/fro m HFNS Askea. Friday 5pm finish.	5.55	5	29.35	38	125		25/08/2 025	28/06/2 026
School Age Half Session	SAC	4y - 12y	No	13:45	15:00			Yes	Transport	School Term time pick up from HFNS Askea.	1.15	5	6.15	38	35		25/08/2 025	28/06/2 026
Full Day Care	ELC/SAC	1y - 12y	Yes	07:30	18:00			Yes	Meal	Full day care provid	10.30	5	52.30	50	174. 71	110.21	18/08/2 025	23/08/2 026

										ed with meals for 50 weeks of the year. Friday s 5pm finish.								
Session al	ELC	2y 8m - 6y	Yes	09:00	12:00			Yes	Meal	ECCE sessio ns 38 weeks . snack includ ed.	3.00	5	15.00	38	64.5	0	25/08/2 025	28/06/2 026
Session al	ELC	2y 8m - 6y	No	13:00	16:00			Yes	Meal	ecce sessio ns 38 weeks Snack includ ed.	3.00	5	15.00	38	64.5	0	25/08/2 025	28/06/2 026
Breakfa st & School Age	SAC	4y - 12y	No	07:30	09:10	14:45	18:00	Yes	Meal, Transport	Meals provid ed, drop off/col lectio n HFNS Askea. Friday 5pm finish.	4.54	5	24.30	38	90		25/08/2 025	28/06/2 026
School Age Session al	SAC	4y - 12y	No	14:45	18:00			Yes	Meal, Transport	School age Term time with	3.15	5	16.15	38	60		25/08/2 025	28/06/2 026

									collect ion from HFNS Askea. Friday 5pm finish.							
Half Session Breakfa st Club	SAC	4y - 12y	No	07:30	09:10		Yes	Meal, Transport	Breakf ast & drop off to HFNS Askea.	1.40	5	8.20	38	35	25/08/2 025	28/06/2 026
School Age Part time	SAC	4y - 12y	No	13:45	18:00		Yes	Meal, Transport	School Term time collect ion from HFNS Askea. Friday 5pm finish.	4.15	5	21.15	38	90	25/08/2 025	28/06/2 026

Fee Extras

Туре	Extras	Amount	Frequency	Other	Description	Additional Details/Conditions	Effective From	Effective To
No Optional							25/08/2025	
Extras								
Discount		0			We do not offer discount		25/08/2025	23/08/2026
Deposit		20	Once Off		Deposit for placement for all registrations with exception of ECCE only sessions.	Deposits will be returned or deducted from fee due when child's registration has been approved on the Early Years Hive and the child commences placement in the service.	25/08/2025	23/08/2026